09DPS018-030, 09DPM035-130,
38APS025-065,38APD025-130
Sound Reduction Kit Accessory
50/60 Hz

Installation Instructions

Part No.: 38AP-900---014 (575-v), 38AP-900---015 (380-V)
38AP---900-016 (208/230-v), 38AP-900---017 (460-v, 380/415-v)

SAFETY CONSIDERATIONS

Installation of this accessory can be hazardous due to system
pressures, electrical components, and equipment location (such
as a roof or elevated structure).

Only trained, qualified installers and service technicians
should install, start up , and service this equipment.

When installing this accessory, observe precautions in the
literature and on any labels attached to the equipment, and all
other safety precautions that may apply.

* Follow all safety codes.
»  Wear safety glasses and work gloves.
» Use care in handling and installing this accessory.

/A WARNING

To avoid the possibility of electrical shock, open and tag all
disconnects before installing this equipment. Failure to do
so could result in severe personal injury.

INTRODUCTION

The accessory sound reduction kit is a system of fans and
acoustic enclosures specially designed for reducing system
noise with minimal impact to the unit operating envelope. The
accessory is compatible with the Motormaster® control. The
accessory kit contains the parts needed to convert one fan.

Depending on the unit size and number of fans it contains, a
minimum of one to a maximum of 8§ kits may be required to
modify the unit. See Table 1 for the number of kits required for
each unit. See Table 2 for the contents of each kit.

Table 1 — Sound Reduction Kit Requirements

UNIT ACCESSORY KITS
09DP 38AP REQUIRED
018 — 1
020-035 025-030 2
040 040, 050 3
050-065 060-070 4
075 080 5
085-095 090,100 6
115 115 7
130 130 8

Table 2 — Sound Reduction Kit Contents

ACCESSORY PACKAGE CONTENTS:
PART NUMBER
DESCRIPTION QUANTITY 1 36AP.900--014 | 38AP-900-015 | 38AP-900--016 0017
575-3-60 380-3-60 208/230-3-60 380/415-3-50

Outdoor-Fan Motor 1 HD52AR578 HD52AR381 HD52AR228 HD52AR465
Fan Propeller 1 0OPSNO00000101A
Fan Propeller Cover 1 00PSGO000000200A
Washer 1 00PPN500009700A
M8 Screw 1 O0O0PPN500009600A
Fan Shroud/Grille Assembly:

Fan Shroud 1 00PSN000027000A

M4.8 Screw 4 0OPPN500000401A

Fan Grille 1 30GX500167

M6 x 20 Hex Head Screw 8 00PPN500000302A
1/4-14 x 5/g in. Screws 8 AL56AZ003

___________________________________________________________________________________________]
Manufacturer reserves the right to discontinue, or change at any time, specifications or designs without notice and without incurring obligations.

Catalog No. 04-53090022-01 Printed in U.S.A.

Form 09/38-2SI

Pg1 11-13 Replaces: 38AP-2SI|



INSTALLATION

Step 1 — Inspect the contents of each package for any miss-
ing or damaged parts. File a claim with the shipping company
if any item is missing or damaged, and notify your Carrier rep-

resentative.

Step 2 — Lock out and tag out all disconnects. Remove the
existing fan guards (see Fig. 1), fan propellers, and outdoor-fan
motors from the unit. Be sure to save the motor bracket, bolts,
nuts, and washers for reinstallation of the new outdoor-fan mo-

tor. See Fig. 2.

W

, = $

i
\

\‘»

7

\

FAN GUARD
MOUNTING SCREWS (4)

Fig. 1 — Fan Guards

TORQUE BOLT 13.0-17.0 FT-LB

I=] =]l
7.00in. MOTOR BRACKET
MIN.
\ MOTOR MOUNT
BEARING CUP

NOTE: Fan rotation is counterclockwise when viewed from top of

unit.

Fig. 2 — Installing Fan Propellers and Motors

=
\ FAN DECK

Step 3

To avoid possible damage to accessory components, do not
remove them from the packaging until they are ready to be
installed. DO NOT stack anything on top of the fan propel-
lers; damaging the propellers can cause fan imbalance.

When the accessory sound reduction kits are ready to be in-

stalled, carefully remove the accessory fan propellers and the
acoustic enclosures from the packaging.

Step 4 — Install the new outdoor-fan motors into the unit.
Ensure that the fan motor is installed and seated correctly in the
motor mount bearing cup. Take care to line up the motor so the
bolt heads on the bottom of the motor are in the slots of the cup.
See Fig. 2.

1. Position the motor so that the power plug is closest to

the harness assembly. Some motors may include an
anti-rotation bracket at the opposite shaft end of the
motor. If an anti-rotation bracket is included, position
the motor with the anti-rotation bracket on the left side
of the vertical motor basket frame member. See Fig. 3.

ANTI-ROTATION
BRACKET

Fig. 3 — Anti-Rotation Bracket

Reinstall the motor bracket saved in Step 2 at the loca-
tion indicated in Fig. 2.

Reinstall the motor power plug removed in Step 2. Be
sure to form a drip loop in the wire harness assembly.

Step 5 — Install the fan propellers as follows:

1.

2.

3.

Install the accessory fan propellers onto the shafts of
the outdoor fan motors. See Fig. 2.

Install the M8 washer and M8 screw from the top of
the propeller onto the outdoor fan motor shaft. Tighten
the screw to 13 to 17 ft-1b (17.6 to 23.9 Nm).

Check to be sure the fan spins freely over the orifice.

Step 6 — Install the propeller cover on top of the propeller
by snapping it into place.



Step 7 — Mount the fan shroud/grille assembly on the fan
deck using eight 1/4-14 x /3 in. screws. Figure 4 shows the
sound reduction kit installed on a 2-fan unit.

Step 8 — Restore power to the unit. Ensure that the propel-
lers rotate counterclockwise when viewed from the top of the
unit.

NOTE: Sound reduction kit fans rotate counterclockwise when

viewed from the top of the unit. This is opposite from the
direction standard fans should rotate.

Fig. 4 — Sound Reduction Kit Installed



© Carrier Corporation 2013

Manufacturer reserves the right to discontinue, or change at any time, specifications or designs without notice and without incurring obligations.
Catalog No. 04-53090022-01 Printed in U.S.A. Form 09/38-2SI Pg 4 11-13 Replaces: 38AP-2SI




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 1200
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 1200
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


